® 671

@ 571

@ 371

@ 271

T}

O
=}

52 524 9ol very o

-5-4-3-2-1 01 2 3 4 5




2.

U S At 237t 7P 22 A =t

@ (=11) + (+8)

@ (+5) - (+10) @(—3) - (+13)

-3

—

~

)+ (+8) =-3
+(-17)=-9
—(=15) = (-=7) + (+15) = +8
- (+10) = (+5) + (-10) = -5
- (+13) = (-3) + (-13) = -16




O xx2=1x2 @ a+b=-

® ax(-1)xb=-lab @)2 x xx (-3) xy=—6xy
1 a

®asi-t

Dxx2=2x
@a+~b=ax

S =
SR

®ax (-1)x b = —ab

1
@a+g:ax5:5a




—y €y ol tsiA 12} Fole.

@ 2 227t x, y 7 Hol7] 2ol —y o T 7ol ottt

@ € y ol A 224401 7] Wil -y 2 SFol obyot.
< 2A47F 22 7] W2l 7ol oty

@ =y o dsiA 12} Fol7] mzell -y o FFIelt

® € A=@ol7] izl -y ¢k 7ol ottt




@ (1, -13) < At
@ Al 2 AbEH} A 4 ARZ S AT
@ ol dhsto] tielch,

@)1z 9101 A (x, y) FAA &, y 7H BE 52 A 2 )
olct.

® y=-3x o} F HollA Tt

B

y= -3 o) gejme Jeinw
X




444 919 4 A, B, C, D, E 2 2] Ll o] ok
?

rlo e

A

5 1

@A:—5 @B -3 ®@C:0
@D:1 @E%

®B: -2




7.

U S Aarer 23te] duigho] 71 22 A2

@ (4+9) - (+11) @ (-8)-(-5) ® (+8)—(-14)
@(—15)—(—15) ® 0-(-18)

B

@® -2

@ -3

® 22

@0

® 18

A4rer Auto] Ahigho] 7MY &2 = @ ot




AFE A, B 7F &40 &oto] A = Al& 75km

ol &
/»lt"‘l—

=

510km oA

@ 2 A

(B £ A% 05km 2 AEAE 01 B3 geE AR B A

Fof| ThA =E=71?

@ 1A @1
@2/2t308  G)3 Az
T Abgo] W=t A8 = ATt x
(&) x (AZhHo|lr=

(A =
75x +95x =510 ..x=3




T f(x) = 3x-1, g(x) = x+1 o thate] £(3)+3g(1) 2 g2

@ 8 @ 10 ® 12 @14 ® 16

f(3)=3x3-1=8
gl)=1+1=2
s f(3)+3g(1) =8+3x(2) =14




© A Ax A 24H2H 9] et
@ A B9 xzt#E 00|tk

@) ool #mt (-2, 2)0lnt.

@ xZE7} 30|, yFHEIT 290 M2 D

ole}.
® A BE olL ARHE 451

oFL
1o - .

Sy

=1
fr

® " Cc9 HHE= (2,-2) 0l




11, sk A A% Fol 126 otk 7 2 51

@D 38 )40 ® 42 @ 44 ® 46

Ar=x, x+2, x+4
ol




o

® 184 ® 209 @38% ® 439

O 79

5x+3=6(x—1)+2

spy
5x+3=6x—6+2

=7

——

x=17

J 5= 5x7+3=38 (%)

5H

w4




13. 3 Aa,-3)7 2 B(2.5)7F yZo] disto] B4 o, a,b°] g1 212
F-ot?

@az—Q,bz—fﬁ @ a=2,b=3
® a=3,b=2 @ a=-3,b=-2
®a=-2b=3

vE oA xHES] BT} R HH
—a=2—>a=-2




14.

Aoigho] 791 &= FollA

@® 378 @ 474

A2 $E a, AUl 49 5 FolA
FEbLH LW, o Bt I3 p Ho} T2 g2 G| 7HeE?

@ 770

@ 97 @11 7R

=
T

B

7| =+7, -7 °|EZ2 ¢

x=-6, -5, -4, -3,
117 o]t}

=7

4 = +4, -4 O|BE p = 14
F5tA sHe B4E xet ohE
-2, -1, 0, 1,

7T<x<4

2,3, 40|28 x 9 o=




15. & 4 x,yoll tste] x o Auighe 6, y o AHHL2 90t x—y F
V2GS a, 7P AL S p et S ] g+ b O Fe Fotolet

-0 @1 ©o0 @ 5 ® 10

x=+6,-6, y=+9,-9°|2Z
x =] AL 6~ (-9) =6+ 9 =15
x-y°] HAXHPL 6-9=-15

kA q = 15, b = -15 ot}
La+b=15+(-15) =-1




